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T} -22=0 & 2%(2?-1)=0 = 2°=0(never)orz’—1=0. Ifz?2—1=0, then
z2=1 = = #1. So the only solutions are z = %1.

43¢ - 3zte™ =0 & 2% ®(4-3z)=0 = z=00re 3 =0 (never)or
4—3z=0.If4—3z=0,then3z=4 <& «=3. Sothesolutionsarez =0andz = }.

e —-3e*+2=0 & (e*=1)(e=2)=0 = e*—1=00re®—2=0.Ife?—-1=0,
thene? =1 < z2=Inl=0. Ife?—-2=0,thene*=2 << z=1In2~0.6931. Sothe
solutions are ¢ = 0 and z =~ 0.6931.

e +4e” —21=0 & (e2+7)(e*-3)=0 = e®=-Tor e¥® =3. Nowe®*® = -7
has no solution, since €%* > 0 for all z. Butwecansolvee®* =3 & 2z=In3 <«

z = £In3 ~ 0.5493. So the only solution is = ~ 0.5493.

lnz=10 & z=e!~22026



